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1. XORXZRESRE L. (SHk29, A3y, Bik4am 208, C#647)

(1)  22+52y+6y2+y—1

(2) 202 + 3wy +y? —x — 2y — 3

(3) 622 —xy — 22 +Tx — Ty —3
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2. RXROAXZRESMEX. (S22 158, A3 5208, B4 50, C #6540 )

(1) 2> —4dx—y?>+2y+3

(2) 322 —2zy —y? + 16+ 4y +5

(3) 1022+ 1lzy —6y% —x — 11y — 3
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RETAN EBAE SHOLTEHET 01 FEEH

1. RXoAXE2RESHEEX. (S22, A3, Bk4720%, CH647)

* e EHIFOAK
acz?® + (ad + be)x + bd = (ax + b)(cz + d)

a >< b — be
c d — ad
ad + bc

(1) 2+ 5xy +6y2 +y—1

1 — 3

;>
=224+ 5yx+ 2+ 1By — 1) < EBHOREDHE 3 -1 — =2

1 204+1 — 2y+1
={z+ 2+ 1HHz+By—1)} <TEHIT 1 >< 3y—1 — 3y—1

oY
=(z+2y+1)(z+3y—1)
PACCERES)
BAREHL THED»D B2 D7 K 9.
IR 72 L U, BFDIEZT THidAR 5.
(2) 202 +3zy+y> —x—2y—3
=202+ By —Dr+y? -2y —3 <z IOV THEXRZDIHICIENRS
=202+ By — D+ (y+1)(y—3) < EFIHDREI
1 y+1 — 2y42
={z+y+DHH{2x+ (y—3)} <LTSHET 2 y—3 — y-—3
Jy—1

=(z+y+1)(2z+y—3)

(3) 622 — 2y — 2y? + Tx — Ty — 3
=622+ (—y+ Tz — (20> + Ty +3) < 2 IOV THEXREDIHICIERS

=622+ (—y+T)z—(y+3)2y+1) < EBCHOHREIHE 2 1 —

~|= e

2 >< y+3 — 3y+9
={22+(y+3)}H{3z—(2y+1)} <HFEHT 3 —2y+1) — —4dy—2
—y+7

=Rxr+y+3)(3zx—2y—1)
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2.

RORZENE R X, (S22 158, Afk3520%, B4 508, CH6340%)

(1) 2> —4dx—y?>+2y+3

=224 — (Y? -2y —3) <OV THEXRZDIHIZIEINS
=22 —dx— (y+1)(y—3) < EBIHOREEIE

1 —(y+1) — -—y-—-1
={z— @+ )+ (y—-3)} <TEHIT 1 >< y—3 — y—3

=(x—y—1)(z+y—3)

(2) 32?2 —2xy—y? +16x+4y+5

=322+ (—2y +16)x — (y* —4y —5) <z IOV THEXRZDIHIZIER 2
=322+ (—2y+16)x — (y + 1)(y — 5) < ERIHDKEIIE

1 —(y—5) — —=3y+15
={z—(y-5}H3zx+ (y+1)} <TEHIT 3 >< y+1 — y+1
—2y + 16

=(xz—y+5@Bx+y+1)

(3) 102+ 1lay—6y> —x — 11y —3
=102? 4+ (11y — 1)z — (6y* + 1ly + 3) < z IZDOWTHNZDIHICIENR S

2 3 —
=1022 + (1ly — Dz — 2y +3)By + 1) < EBHORE D MHE 3 >< 1 — 2

11

={22+ @By+D}Hbr - 2y+3)} <7TEHT 5 —(2y+3) — —4y—6
11y —1

= (2z + 3y + 1)(5z — 2y — 3)
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